ARAEESAHI(SFFSES A B REZRSHKR

1. T BER P n (1h H)

No = 3 4 X5y JL[F A — 4 HiKE - BT Al SR HINHY S
1 [Ryr2x/ 2R TFEH0.4mg i - RIVFR 0.56mg1 {4 ¥121,034.00 NAF= B S TR I TR R 5

% NG E DT ER G ERDHFEEILS (P 7 [EH )

2 BT LA IR R B 3 (1 H )

S RFEMDPTFIET DI RIS,

5 BB IMELE L7\ VR R E 3 G ITA B =7 B DR 441)

No = 3 £ X4y R A —e4 HikE - BLAT Al SR HINHY S

1 [{H#HT/—VRIP # O W= ) —n 500113 ¥320.00 fR o K A4 H R TE A
3. HORBE/MERH EEIE IOV T (35 )

No =4 X4y — %4 TSR JEAE < BT P il SN HA

1 (V71 8E2.5me Ei R A= il KIE R 2.5mg 1 HiE ¥161.20 BRYSGLT2MLER] — 2B JRIF IR A —

2 TIT =T N 2g 5 NETaRR TUTMAGLSE | 12ug1Cap ¥55.40 IOTART X RNT TS =5 —

3 | =L AREL00mg n IRV LA INNVTART7—< | 100mglEE ¥114.40 TUOAT R 2T VA LS (ARNID
4. JRFEH RIS BENEE F BI0 BE xR 3 AL Z oW @k H)
No B 2 B = 3 X4y i [FIEA HIN I FA - BLAL AR 5E W 1 OB R 3R 5 il

o . 2 TR T A . . -
— oD]' A\ o — 00 .

1 [E=2v7 7 =R R AN 0. 75% )G G ¥81.0 O B HR A RTALE A R 10mLUfl | =221 77—k NalN F#%0.75% H [ T ¥81.0

2 |[LXIE'RODEEL100me (YD | % 10.10 O H 2% LR R A 100me#E A7F)VT 7—hPN R 10% HET | ¥20.00
5. HIBRESK L2V T A5 E)
No = 3 4 X4y =ttd | Hkg - BAL B Snikagtl R S AR

1 (LRI REELOOME [ A —Y 77 | % K 100mgfE H %% - HIEEA A L/RIERODEE100me YD ) -




